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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226619521 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

1, G20 Sumnmut — 2024 a. Los Angeles, USA
1. BRICS Summnut — 2024 b. Rio de Janewro. Brazil
111. Oscar — 2024 ¢. Kazan. Russia
1 i—§ i€ 1i—b
2. i—B i€ 11 —a
3 i3 11—Db 11 —C
4. = i—=h 11 —2a
Options :
1. % 1
2.4
3. % 3
4. % 4

Question Number : 2 Question Id : 39226619522 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the mismatched pair regarding state and it’s dance
form

1. Amnachal Pradesh -  Mukhauta Nritya
2. Orissa - Dandanatha
3. Maharashtra - Dandiya Raas
4. Karmataka - Lambi
Options :
1% 1
2.% 2
3.¢3

4, % 4



Question Number : 3 Question Id : 39226619523 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following cities of Ireland with respect to their
geographical location

1.
ii.
1il.

1v.

[ ]

Options :
1. %1
2. %2
3.¥3
4. % 4

Galway

Cork

Dublin
Waterford
1—b ii—d
i—d ii—a
1—c¢ ii—d
1—a ii—cC

a.
b.
c:
d.
iii—a
il —C
—b
i —d

Southeastern Ireland
East Coast of Ireland
West Coast of Ireland
Southwestern Ireland

IV —C

iv—Db

1V —a

iwv—>b



Question Number : 4 Question Id : 39226619524 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

1. Louis Pasteur a. Vacuum tube
11 Edward Jenner b. Germ Theory
1ii.  John Fleming c. Intracellular Pangenesis
iv.  Hugo de Vries d.  Vaccination
1. i-a. 1u-d  ii-c¢. 1v-b
2. 1-b, 1u-d 1mi-a 1w-c¢
3. 1-a. 1-c¢, 1ui-b, 1w-d
4. i-b, 1-d. 1i-c, 1iv-a

Options :

1% 1

2.¥2

3.% 3

4.% 4

Question Number : S Question Id : 39226619525 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the mismatched pair related to newspaper

L Urdu - Rozana Tgj

2. Bengali — Dianik Bharat
3. Hindi — Rajasthan Patrika
4. Tamil - Dinamani
Options :

1% ]
2.¥2
3.% 3

4. % 4



Question Number : 6 Question Id : 39226619526 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Planets according to their decreasing mass

1. Jupiter. Uranus. Neptune. Saturn. Earth. Mars. Venus,
Mercury
2. Venus. Mars. Mercury, Earth, Jupiter, Saturn, Uranus,
Neptune
3. Earth. Jupiter. Saturn. Uranus. Mars. Venus. Mercury.
Neptune
41 Jupiter, Saturn. Neptune, Uranus, Earth. Venus, Mars,
Mercury
Options :
1% 1
2. %2
3.%3
4.9 4

Question Number : 7 Question Id : 39226619527 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This device 1s used to record physiological movements
graphically in humans

1. Kymograph

2. Allograph

3. Acro graph

4. Anemograph

Options :
1.v 1
2.% 2
3.% 3
4. % 4



Question Number : 8 Question Id : 39226619528 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the mismatched pairs among the following
A Dadabhai Naoroji Grand Old Man of India

B Sardar Vallabhbhai Patel Indian Bismark
C,  Gopal Krishna Gokhale
D

Socrates of Maharashtra

Lala Lajpat Rai - Hero of Bardoli
E: B.C
2. B.D
5 D
4, A D
Options :
1% 1
2.% 2
3.¥3
4.% 4

Question Number : 9 Question Id : 39226619529 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This Grand Slam title 1s known as ‘Roland Garros’ title
I Australian Open
2. Wimbledon

fad

French Open
4. U.S. Open

Options :
1. % 1

2. %2
3.¢3
4. % 4



Question Number : 10 Question Id : 39226619530 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mismatched pair among the following regarding river and it’s
birth place

1. Sone . Gurlamandhat
2. Damodar - Ton
2 Ravi - Rohtang Pass
4, Mahanadi = Sithawa
Options :
1.1
2. % )
3% 3

4. % 4



Question Number : 11 Question Id : 39226619531 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Find out the correct pairs regarding Author and book among
the following

A. R. Venkat Raman
B. A .P.J. Abdul Kalam

My Life My Time

Envisioning the Empowered
Nation

54 K.R. Narayana Gopal Sharma

V.V. Giri - Job for Millions
1. A D
2 B.D
3. e
4, B 1D
Options :
1% 1
2.2
3. % 3

4.% 4



Question Number : 12 Question Id : 39226619532 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct pairs related to supercomputers and the
developed nations

1. COSMOS a. India
ii. PARAM b. United Kingdom
1. CRAYKIS C. USA
1. 1—a 1i—Db i —c
2. 1—b 11— ii—a
3 i—c¢ 1i—Db iii—a
-+ 1—-b ii—a iii—c
Options :
1% 1
2. % 2
3.% 3
4.9 4

Question Number : 13 Question Id : 39226619533 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Chemical name of Bleaching powder is

1. Calcium Hypo chloride

2, Calcium Chloride
3. Calcium Hypochlorite
4. Calcium Carbonates
Options :
1. %1
2. % )
3.¢3

4.% 4



Question Number : 14 Question Id : 39226619534 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

"WiMAX provides these services

1. Online medical

-2

Software exports

4

3. Education

4, Wireless broadband

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 15 Question Id : 39226619535 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Attorney General of India is appointed by the
1. The Prime Minister

2 The President

The Lok Sabha Speaker

4. The Chief Justice of India

[N

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 16 Question Id : 39226619536 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Choose the correct answer from the given below

Statement A: Nagshankar temple of Assam 1s a model temple
for turtle conservation

Statement B: World Turtle Day celebrated on May 23
1. A 1s correct B 1s incorrect
2. A 1s imncorrect B 1s correct

A_ B are correct

[N

4. A. B are incorrect

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 17 Question Id : 39226619537 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

India’s first gold medalist in Para Olympics and life time
Arjuna awardee is

1. Martyappan Thangavelu

2 Muralikant Petkar

(sd

Devendra Jhajharai

4. Harvinder Singh

Options :
1. %1
2.9
3.% 3
4. % 4



Question Number : 18 Question Id : 39226619538 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct slogan with the said person
1. Mahatma Gandhi — “"Aaram Haram Ha1™.

2 Jawaharlal Nehru- “Hindus and Muslims are the two
eyes of India”.

[ ]

Lala Lajpat Roy — “Every blow that 1s hurled on my
back will be a nail in the coffin of the British Empire™.

4, Subhas Chandra Bose — “Read. fight and Unite™.
Options :
1% 1
2.% 2
3.¥3
4. % 4

Question Number : 19 Question Id : 39226619539 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This Brazil breed of cow got Miss South America in world’s
Cows champion competitions

1. Holstemn - 002
2 Simmental - KZ
Viatina - 19

LS ]

4. Banteng
Options :
1% 1
2. % 2
3.3
4. % 4



Question Number : 20 Question Id : 39226619540 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct matching crematorium of famous persons.

1. Chaitya Bhoomi
il Uday Bhoomu
iii.  Karma Bhoomu

1v. Veer Bhoomi

1. i—b., 1—-c. m-d
2. i—d. 1m-c, 1i-Db.
F. i—a. 1i—c. 1i-b.
4, 1i—a. 1i—c. ii-d.

Options :

1.¥ 1

2.% 2

3.%3

4. % 4

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

a. Rajiv Gandhi
b. B. R. Ambedkar
el K. R. Narayanan
d. Dr. S. D. Sharma
iv—a
Iv—a
iv—d
iv—>b
Section 2
392266616
2
Online
Mandatory
10
10
5
0
1
392266686
Yes



Question Number : 21 Question Id : 39226619541 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement/s related to names of reports on
education

A.  Dr. Molcolm Adiseshaiah Report is “Learning to Do’

123 NPE — 1986 draft report is ‘Challenges in Education —
India’s Vision’

. Janardhan Reddy report is “Towards Enlightened
Human Society’

i A, B.C
2, A only
3. B only
4. A, Conly
Options :
1% 1
2.¥2
3. % 3
4. % 4

Question Number : 22 Question Id : 39226619542 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT a benefit of Naturalism

0! Give importance to child centered education
2 No importance to book reading
3. Studies the nature of a child while giving education
4, Emphasizes the concepts of soul and consciousness
Options :
1. %1
2. % 2
3. % 3

4.9 4



Question Number : 23 Question Id : 39226619543 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The area of land required for a school with 500 students
strength according to the “School Building Committee” of
CABE is

1. 1Y4 acres for building. 6 — 7 acres for playground
2 o

2 — acre for building, 2 — 3 acres for playground
J

S

1 acre for building. 4 — 5 acres for playground

4. acre for building. 2 acres for playground

b | =

Options :
1.¥ 1
2. % 2
3. % 3
4. % 4

Question Number : 24 Question Id : 39226619544 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Brubaker this is NOT an “Instrumental value’
1 Family value
2 Religion value

Internal value

e

4. Democratic value

Options :
1. % 1

2.% 2
3.¢4°3
4. % 4



Question Number : 25 Question Id : 39226619545 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This disease is caused by imbalanced secretions of Endocrine
gland

1. Cretinism
2. Hydrocephalus
3. Phenylketonuria

4. Down Syndrome
Options :
1.¥1
2. % 2
3.% 3
4.% 4

Question Number : 26 Question Id : 39226619546 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NEP 2020, this B.Ed. course will be available to
those who have already a master’s degree in any subject and
want to become a subject teacher 1s

1. 1 year B.Ed. course
2 2 years B.Ed. course
3 3 years B.Ed. course
4, 4 years B.Ed. course

Options :

1.1

2. %2

3.%3

4.% 4



Question Number : 27 Question Id : 39226619547 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Children’s educational programmes are more future centered
and has forgotten the present.” is the opinion of

L. NPE - 1986
2. NCF - 2005
NCF - POA 1992
4. NPE - 1968

L |

Options :
1. %1
2.92
3.% 3
4. % 4

Question Number : 28 Question Id : 39226619548 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Chapter 5 of NCF 2005 addresses this

L Systemic reforms
2 School. classroom environment
3. Evaluation
4. Learning. Knowledge
Options :
1.¥ 1
2. % )
3% 3

4, % 4



Question Number : 29 Question Id : 39226619549 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to RTT — 2005 Act. if the information 1s not
received from the Appellate authority. a second appeal should
be made to the State Information Commission within these
many days

L 90
2 120
3. 60
4 30

Options :

1.v1

2.% 2

3.% 3

4. % 4

Question Number : 30 Question Id : 39226619550 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Application fee for obtaining information at the village level
under the Right to Information Act 2005 for those who do not
have white ration card 1s

¥ Rs. 5
2, Rs. 10
3. Rs. 50

4, No application free

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Section 3

Section Id : 392266617
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266687
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 39226619551 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT a Sub Test in the Differential Aptitude Test
Battery (D.A.T)

k. Teaching aptitude
2. Clerical aptitude
3. Numerical ability
4. Mechanical reasoning ability
Options :
1.¥ 1
2.% 2
3. % 3

4. % 4



Question Number : 32 Question Id : 39226619552 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Project method is in accordance with

L.
2.
3.

4.

Options :

1.¢ 1
2. %2
3. %3
4. % 4

Thorndike’s Theory of Learning
Skinner Operant Conditioning Theory
Pavlov’s Classical Conditioning Theory
Judd’s Theory of Ideals

Question Number : 33 Question Id : 39226619553 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following statement 1s TRUE according to
Carl Rogers theory of development of Personality

L.

(S ]

Options :

1% 1
2. %2
3. %3
4.9 4

Self-actualization 1s achieved when basic needs are not
met by an individuals

There are fixed set of stages in the development of
personality.

Self-actualization means reaching the apex of
achievement 1n a selected area of life

There are no specific stages in development of
personality



Question Number : 34 Question Id : 39226619554 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct answer related to “Development’

1. Development = f(Maturation x Learning)
2. Development = f(Heredity x Learning)
3. Development = f (Environment x Skill)
4. Development = f(Intelligence x Learning)
Options :
1.v1
2.% 2
3. %3
4.% 4

Question Number : 35 Question Id : 39226619555 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The mental process of deliberate Adoption of another person’s
behaviour 1s called

1. Retention
2. Identification
3. Internalization
4. Socialization
Options :
1. % 1
2.4
3% 3

4. % 4



Question Number : 36 Question Id : 39226619556 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Formula to find out Arithmetic Mean in short method

N
O T i

=

2. M=AM~+Ci

. 2fx

3. M= Ji
N
XX

4. M=—

N

Options :

1. % 1

2.9 2

3.% 3

4. % 4

Question Number : 37 Question Id : 39226619557 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

After coming to school. boy frequently thinks ‘whether he
locked the doors of his house or not’. This type of the mental
illness 1s

L. Common Anxiety

2. Obsessive Compulsive Neuroses

L |

Attention Deficit Hyperactivity Neuroses
-+, Neurasthenia

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 38 Question Id : 39226619558 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The best description on “Von Restorff Effect’ 1s

E The ability to remember items presented in the
beginning of a list better than others.

2. The tendency to remember unusual items than the
common item in the list.

(S

The tendency to forget two successive items in the list.

4. The ability where the last items in the list are
remembered.

Options :
1. %1
2.92
3.% 3
4. % 4

Question Number : 39 Question Id : 39226619559 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following stages 1s NOT the stage of creative
process. according to Graham Wallas

1. Naturalization
2; Preparation
3. Incubation
4. Iumination
Options :
1.¥ 1
2. % )
3% 3

4, % 4



Question Number : 40 Question Id : 39226619560 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One of the following statements is TRUE related to ‘Learning

Curve’
i There is no more leaming after physiological limit.
2. In learning curve. x-axis denotes learning. y-axis

denotes efficiency.

LS ]

reinforcement

There 1s no relationship between Plateau stage and

4. Learning curves. weather positively accelerated or
negatively accelerated, indicate barriers in learning.

Options :
1.9 1
2. % 2
3.% 3
4. % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Section 4

392266618
4

Online
Mandatory
80

80

40

0

1
392266688
Yes



Question Number : 41 Question Id : 39226619561 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the oak tree. a crow shakes the raindrops from his feathers
and caws disconsolately.

Choose the synonym of the word ‘disconsolately’
1. Cheerfully
2 Sadly
3 Happily
4. Optimistically
Options :
1% 1
2.¥2

3. %3
4.% 4

Question Number : 42 Question Id : 39226619562 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The hillsides are lush as late monsoon-flowers begin to appear
— wild balsam, dahlias. begonias. and ground orchids.

Choose the synonym of the word ‘lush’.

1. Sparse
2. Luxuriant
3. Scant
4. Meager
Options :
1. %]
2.2
3. % 3

4.% 4



Question Number : 43 Question Id : 39226619563 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Albert Einstein was born on 14 March 1879 in the German
city of Ulm, without any indication that he was destined for
greatness.

Choose the antonym of the word greatness
1. Mediocrity

2. Magnificence

3 Brilliance

4, Excellence

Options :
1.v 1
2. %2
3. % 3
4. % 4

Question Number : 44 Question Id : 39226619564 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

After prolonged discussion. Einstein got his wish to continue
his education in German speaking Switzerland. in a city which
was more liberal than Munich.

Choose the antonym of the word ‘liberal”

1. Conservative
2 Progressive
3. Open-minded

4. Tolerant

Options :
1.1
2.% 2
3.% 3
4. % 4



Question Number : 45 Question Id : 39226619565 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

To show a friendly gesture to calm someone down.
Choose one word substitute for the expression above
L. Peace
2 Placate
3. Treaty
4. Pact

Options :

1% 1

2.¥2

3. %3
4.% 4

Question Number : 46 Question Id : 39226619566 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A person who doesn’t honour the sentiments of others.

Choose one word substitute for the expression above

1. Industrious
2 Vultures
3. Doleful

4. Callous

Options :
1. %1
2. % 2
3.% 3
4.9 4



Question Number : 47 Question Id : 39226619567 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Do you watch TV alot?” *“No, I only watch my
favorite cartoons.

Choose the correct option to complete the sentence above.
1. a

2. an

the

L |

4. No article 1s needed

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 48 Question Id : 39226619568 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

TEIL stands for
L Teaching English as an Indian Language
2. Teaching English as an Intensive Language

L |

Teaching English as an International Language

4. Teaching English as an Indo-American Language

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 49 Question Id : 39226619569 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the Greek term that refers to “The right or opportune
moment”

L. Logos
2 Catharsis
3. Pathos
4. Kairos
Options :
1. % 1
2. % )

3. %3
4.¥ 4

Question Number : 50 Question Id : 39226619570 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct meaning for the Latin phrase “Memento
Mor1™

l. Thus passes the glory of the world
2. Remember that you will die
3. In wine. there is truth
4., I came. I saw. I conquered
Options :
1% 1
2.92
3. % 3

4.% 4



Question Number : 51 Question Id : 39226619571 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The meaning “on account of” is closest to :
I Because of

2, In view of

3 In place of

4. Acting for

Options :
1.¥ 1
2. % 2
3.% 3
4, % 4

Question Number : 52 Question Id : 39226619572 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

his efforts. Sonu has been nominated seven awards.

Choose the set of prepositions that suit the respective blanks.
1. As/in

4 Since / of
3. For / for
4. As /by

Options :

1. % 1

2. % )

3.43

4. % 4



Question Number : 53 Question Id : 39226619573 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct phonetic transcription of the word ‘receipt’

I, /TIs1t/
7. T1si:t/
3. /11s1:d/
4, TIsi:pt/

Options :

1. % 1

2.9 2

3. % 3

4. % 4

Question Number : 54 Question Id : 39226619574 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the word that has a /z/ sound:

1. Pass
2. Kiss
3. Kids
4. Saw

Options :

1. % 1

2. % 2

3.¢3

4. % 4



Question Number : 55 Question Id : 39226619575 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the proverb that highlights the power of determination
and persistence in overcoming obstacles

1. The grass is always greener on the other side.
2. A picture is worth a thousand words.
3. Every cloud has a silver lining.
4. Where there’s a will. there’s a way.
Options :
1% 1
2.% 2

3. %3
4.9 4

Question Number : 56 Question Id : 39226619576 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the proverb that suggests that in certain situations. any
action may be justified

1 Absence makes the heart grow fonder.
2, Better late than never,
3. All 1s fair in love and war.
4. Don’t count your chickens before they hatch.
Options :
1% 1
2. % 2
3.¥3

4.% 4



Question Number : 57 Question Id : 39226619577 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I was astonished on the ignorance in the villagers.

Choose the option that mmprove the underlined part in the
sentence above

L over the ignorance between
2 on the ignorance by
3. at the ignorance of
4, in the ignorance off
Options :
1% 1
2.% 2
3.¥3
4.% 4

Question Number : 58 Question Id : 39226619578 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify one of the benefits of using a dictionary.

1. Decreases vocabulary
2. Limits language skills
3 Decreases accuracy in communication
4. Enhances vocabulary
Options :
1% 1
2.% 2
3.% 3

4.9 4



Question Number : 59 Question Id : 39226619579 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the purpose of writing an autobiography.
E To document historical events
2 To entertain readers with fictional stories
3. To provide insights into the author’s life experiences
4. To provide a specific political agenda.

Options :

1% 1

2.% 2

3.¥3

4. % 4

Question Number : 60 Question Id : 39226619580 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The primary goal of précis writing is :
I; To expand upon the original text

2, To rewrite the original text in a different style

T2l

To critique the original text

4. To condense the original text while retaining its main
1deas
Options :
1% 1
2.% 2
3.% 3

4.¥ 4



Question Number : 61 Question Id : 39226619581 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

By the eighteenth century, English shipping as
efficient as the Dutch

Choose the part of the sentence that fits the blank.
1. becomes

2 had become

3 has become

4. would become

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 62 Question Id : 39226619582 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the sentence that correctly indicates an action that
started in the past and continues into the present

1. He has already finished his work yesterday.
2. She will finish her project by tonight.
3. They are meeting their friends for dinner tonight.
4. We have been living in this house for five years.
Options :
1% 1
2. % 2
3.% 3

4.9 4



Question Number : 63 Question Id : 39226619583 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct term for the process of adding prefixes.
suffixes or infixes to root words.

L Compounding
2. Conversion
3 Affixation

4, Clipping

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 64 Question Id : 39226619584 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

FBI 1s an example of

1. Back formation
2 Eponym
3, Compounding
4, Initialism
Options :
1. %]
2. % 2
3. % 3

4.9 4



Question Number : 65 Question Id : 39226619585 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the sentence with the right word order :
1. In a modern big house lived Harry.
2. Harry in a big modern house lived.
% Harry lived in a modern big house.

4. Harry lived in a big modern house.

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 66 Question Id : 39226619586 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the wrong collocation from the following.
I, Keep a respect

Z Keep a promise

3 Keep a record

4. Keep a secret

Options :
1.v 1
2.% 2
3.% 3
4. % 4



Question Number : 67 Question Id : 39226619587 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the question tag that fits the blank :

Let’s go for a work

1. should we ?
2. shall we ?
3. can we ?
4. could we ?
Options :
1. %1
2.2
3. % 3
4. % 4

Question Number : 68 Question Id : 39226619588 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence with the correct question tag.

L, They have been to London. have they?
2. They have been to London, hasn’t they?
3. They had been to London. hadn’t they?

4. They had been to London. haven’t they ?

Options :
1. %1
2. % 2
3.¥3
4. % 4



Question Number : 69 Question Id : 39226619589 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the scenario in which the phrasal verb ‘put off” be
most appropriate :

1. When a person makes immediate decisions.
2, When a project proceeds according to schedule.
3. When a meeting 1s postponed to a later date.
4. When a task is completed a head of time.
Options :
1% 1
2. % 2
3.¥3
4.% 4

Question Number : 70 Question Id : 39226619590 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the situation when someone would likely to use the
phrasal verb ‘give in’.

i When they win a competition
2, When they demand higher compensation
3. When they receive unexpected assistance
4, When they admit that they are defeated
Options :
1%
2.% 2
3. % 3

4.9 4



Question Number : 71 Question Id : 39226619591 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence that can be used to offer help.
1. Do you think I could borrow your laptop?
2 Can you attend the meeting on my behalf?
3. Would you like me to proof read your essay?
4, I need assistance with this project

Options :

1% 1

2.% 2

3.¥3

4.% 4

Question Number : 72 Question Id : 39226619592 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the verb type that expresses a state or condition rather
than an action.

L. Dynamic verb
2. Transitive verb
3. Intransitive verb
4. Stative verb

Options :

1. %1

2. % )

3% 3

4.9 4



Question Number : 73 Question Id : 39226619593 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the grammatically correct sentence from the following
1. The fact is known by me.
- He entered the studio.
3. The photographer ceased to listen me.
4. The house is built by brick.
Options :
1% 1
2.¥2

3.%3
4, % 4

Question Number : 74 Question Id : 39226619594 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the grammatically comrect sentence from the
following.

1. Don’t relay with him.
2. Are you fond about sweets?
3. Do vou think he is superior than you?
4, Gopal was driving at full speed.
Options :
1% 1
2. % 2
3.% 3

4.¥ 4



Question Number : 75 Question Id : 39226619595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mahabaleswar is cooler than Panchagni.
Choose the positive degree of the sentence above.
1. Panchgani is so as to cool as Mahabaleswar
2. Panchgani 1s not so cool as Mahabaleswar.
3. Panchgani is so cooler as Mahabaleswar.
4. Mahabaleswar is so not cool as Panchagani.
Options :
1% 1
2.¥2

3. %3
4.% 4

Question Number : 76 Question Id : 39226619596 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct sentence in comparative degree.
1. That stone 1s more heavier than the most stone.
2: That stone is the heavier than this stone.

That stone 1s the heaviest than that stone.

(S ]

4. That stone i1s heavier than this stone.

Options :
1. % 1
2. % 2
3. % 3
4.9 4



Question Number : 77 Question Id : 39226619597 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

They cooked dinner together.
Choose the sentence structure for the sentence above
L Subject + verb
2. Subject + verb + object + adjunct
3. Adjunct + subject + Indirect object + direct object
4. Adjunct + subject + verb + object
Options :
1% 1
2.¥2

3. %3
4. % 4

Question Number : 78 Question Id : 39226619598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct transformation of the compound sentence
“He ran fast. but he missed the bus™ into a complex sentence

He missed the bus because he ran fast.

1
2. He ran fast. which caused him to miss the bus.

[N

Running fast. he still missed the bus.

4. Though he ran fast. he missed the bus.

Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 79 Question Id : 39226619599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct usage of double quotation marks :
1. Enclosing the beginning of a sentence
2. Indicating possession
3 Enclosing direct speech or a dialogue
4, Separating items in list
Options :
1% 1
2. % 2
3.¥3
4.% 4

Question Number : 80 Question Id : 39226619600 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the incorrect statement regarding noun clauses.

1. Noun clauses can function as subject within a sentence
2 Noun clauses can serve as objects within a sentence
3. Noun clauses always begin with subordinating
conjunctions
4. Noun clauses are dependent clauses
Options :
1% 1
2. % 2
3.43

4.% 4



Question Number : 81 Question Id : 39226619601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the most appropriate meaning of the idiom ‘Flicked
back and forth’

1. To move quickly and repeatedly in alternating
directions

1o

To disappear in twisting or swirling motion

L |

To move or hover above something

4, To move in a circular pattern around the clearing

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 82 Question Id : 39226619602 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the correct statement about “For fifty sake’:

1. “For fifty sake’ expresses joy

2. “For fifty sake” signifies exasperation or frustration
“For fifty sake” denotes indifference

[N

4. “For fifty sake’ implies excitement
Options :
1% 1
2.¥2
3.% 3
4.% 4



Question Number : 83 Question Id : 39226619603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the mcorrect statement about prepositions.
1. Preposition indicate the relationship between
a noun (or pronoun) and other words 1n a sentence

2. Preposition can express location, time, direction,
manner, or possession

(8]

Prepositions are always placed after nouns or pronouns
1n a sentence.

4. Prepositional phrases can function as adjectives or
adverbs in a sentence.

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 84 Question Id : 39226619604 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the type of conjunction that connects two independent
clauses :

1. Coordinating
2, Subordinating
3 Coorelative
4. Conjunctive
Options :
1.¢ 1
2.% 2
3.% 3

4. % 4



Question Number : 85 Question Id : 39226619605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the incorrect feature of direct speech

1. Quotation marks are used to enclose the exact words of
the speaker
2. Pronouns and verb tenses are the same as said by the
speaker
3. It involves paraphrasing the original statement
4, Direct speech presents the exact words of the speaker
Options :
1. %1
2.% 2
3.¢3

4.% 4



Question Number : 86 Question Id : 39226619606 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct reported speech of the following
conversation

A: Where are you going?

B: I am going to Chennai now, I will meet my sister
tomorrow

1. A asked B where he was going. B said that he 1s going

to Chennai now and he will meet his sister tomorrow.

2. A asked B where he was going. B replied he was going
to Chennai but would meet his sister the next day.

(S ]

A told B where he was going then. B said that he would
20 to Chennai and will meet his sister the next day

4. A asked B where he was going. B replied that he was
going to Chennai then and he would meet his sister the
next day.

Options :
1%
2. % 2
3. % 3

4.9 4



Question Number : 87 Question Id : 39226619607 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Having no children. they loved it as though it were a baby.

Choose the passive form of the sentence above.

1. Having no children, it was loved by them as though it
were a baby
2. Having children, it were a baby a though they were
loved
3. As though. 1t was a baby they loved it having no
children
4. They were loved by the baby as though, having no
children
Options :
1.¥ 1
2. % 2
3.% 3

4, % 4



Question Number : 88 Question Id : 39226619608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The good souls bought a piece of land. made a feast for their
friends
Choose the passive form of the sentence above

1. A feast for their friends were made and a piece of land
was bought by the good souls

2. A piece of land were bought for the good souls. and a
feast for their friends were made
3. A feast for their friends was bought, and a piece of land
were bought by the good souls
4. A piece of land was bought by the good souls and a
feast for their friends was made
Options :
1% 1
2.% 2
3. %3
4.9 4

Question Number : 89 Question Id : 39226619609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Essays play the following role in shaping public discourse.
1. They provide detailed descriptions or events.

2. They engage readers through story telling.

L |

They foster critical thinking and civic engagement.

4. They explore universal themes of identity and
relationships.
Options :
1% 1
2. % 2
3.¥3

4.% 4



Question Number : 90 Question Id : 39226619610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following type of conflict involves a character struggling
against societal norms or expectations

1. Man vs. Man
2 Man vs. Nature

Thd

Man vs. Society
4. Man vs. Self

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 91 Question Id : 39226619611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the figure of speech in the phrase “Shall I compare
thee to a summer’s day?”. In the phrase ‘thee’ reflects yvouth’s
beauty.

i Simile

2. Metaphor

3. Apostrophe

4, Personification

Options :
1. % 1
2. %2
3.¢¥3
4. % 4



Question Number : 92 Question Id : 39226619612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following best summarises the poet’s vision for society as
depicted in the poem. “Where the Mind is without Fear’.
1. A society characterized by fear and ignorance
2. A society unified by knowledge and freedom
3. A society divided by prejudice and narrow mindedness
4, A society governed by strict rules and regulations

Options :
1. %1

2.2
3. % 3
4. % 4

Question Number : 93 Question Id : 39226619613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Rolled round in earth diurnal course™ (A Slumber did my
Spirit Seal)

The phrase “earth diurnal course’ in the above line indicates:

1. The cycle of life and nature’s eternal thythm
2. Loss and attainment of love
R The passage of time and lust over nature
4. Adverse thoughts of emotional imbalance.
Options :
1.v1
2.% 2
3. % 3

4. % 4



Question Number : 94 Question Id : 39226619614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the metaphor used to describe the cloud’s presence on
the mountains. (The Cloud)

1. Soaring eagle
2, Sleeping dove
3, Mighty lion
4. Serene river

Options :

1.¥ 1

2.% 2

3. %3
4.% 4

Question Number : 95 Question Id : 39226619615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement about the poem’s tone.
(The Nation’s Strength)

L. The tone 1s reflective and contemplative.
2. The tone becomes more assistive towards the end.
3. The tone 1s celebratory and triumphant throughout.
4, The tone 1s fun.

Options :

1.¢ 1

2.% 2

3.% 3

4. % 4



Question Number : 96 Question Id : 39226619616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“She springs like a on the brow of the tide.” (Palanquin
Bearers)

Choose the correct word to complete the line above,
1. Rainbow

- Spark

3. Beam

4, Feather

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 97 Question Id : 39226619617 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the literary aspect that contributes to the poem’s (The
Road not Taken) charm and readability.

1. The complex vocabulary and language usage

2, The irregular and unpredictable rhyme scheme

[ ]

The use of ambiguous and obscure symbolism

4. The simple language and consistent ABAAB rhyme
scheme
Options :
1%
2.% 2
3. % 3

4.9 4



Question Number : 98 Question Id : 39226619618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One of the following is a dominant literary aspect used in the
poem. (Telephone Conversation) Identify it.
i Personification
2. Symbolism
3. Rhyme scheme
4. Enjambment
Options :
1. % 1
2. % 2

3. %3
4.9 4

Question Number : 99 Question Id : 39226619619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the literary aspect that highlights the emotional impact
of the poem. “Night of the Scorpion™

1. Repetition of key phrases
2. Use of metaphors and symbols
3. Free usage structure
4, Point of view from the poet’s perspective
Options :
1% 1
2.% 2
3. % 3

4.¥ 4



Question Number : 100 Question Id : 39226619620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following poetic form is characterized by its simplicity.
narrative structure, and alternating thyme scheme.
1. Sonnet
2. Epic poetry
% Ballad
4. Haiku

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 101 Question Id : 39226619621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following best describes bacon’s style of writing
1. Pedantic and verbose

2. Simple and straight forward

[N ]

Flowery and ornate
4, Vague and ambiguous

Options :
1. %1
2.92
3.% 3
4. % 4



Question Number : 102 Question Id : 39226619622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Rajagopalachari. the following strengthens the
fabric of nation and ensures governments accountability

L. Political 1solation
2 Passive citizenship
3. Active participation of citizens in the democratic
process
4. Political indifference
Options :
1% 1
2. % 2
3.43
4.% 4

Question Number : 103 Question Id : 39226619623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the statement that correctly explains R.W. Emerson’s
view on societal pressures.

1. Societal pressures are essential for maintaining social
order and harmony

2 Societal pressures help individuals grow and become
more responsible

(8]

Societal pressures often force individuals to
compromise their genuine beliefs and values.

4. Societal pressures are necessary for fostering creativity
and innovation

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 104 Question Id : 39226619624 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement regarding the future of
handshaking. (On Shaking Hands)

1. A.G. Gardiner believes that handshaking will become a
universal custom

2. Handshaking will evolve into more elaborate and
intricate gestures

LS ]

The custom of shaking hands will persist despite some
Criticisms
4. Handshaking will be completely replaced by bowing
and hugging in the future
Options :
1%
2. % 2
3.¢3
4.% 4

Question Number : 105 Question Id : 39226619625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the name of the original owner of Manor Farm
(Animal Farm)
1. Mr. Smith
2. Mr. Brown
3 Mr. Jones
4. Mr. White

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 106 Question Id : 39226619626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following person represents the idealistic and visionary
side of the revolution. advocating for modernization and
education among the animals. (Animal Farm)

L. Napoleon
2 Squealer
3. Snowball
4. Boxer

Options :
1. % 1
2. % 2
3.¢¥3
4. % 4

Question Number : 107 Question Id : 39226619627 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the sentence that describes how the novel. ‘Swami and
Friends’. portrays the theme of friendship.

1. It idealises friendship as a perfect bond without any
contlicts.
2 The novel emphasizes the importance of friendship in

shaping one’s character.

fsd

Friendship is depicted as a superficial and insignificant
aspect of life.

4. The theme of friendship 1s not explored in the novel.

Options :
1. %1
2.9 2
3.% 3
4. % 4



Question Number : 108 Question Id : 39226619628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the role that religion and spirituality play in the novel.
(Swami and Friends)

1. The novel emphasizes the importance of religious
rituals in daily life.

2 Religion is presented as a hindrance to personal growth
and development

LS ]

Spirituality plays a central role in the protagonists
journey of self-discovery

4. The novel does not touch upon religious or spiritual
themes

Options :
1. % 1
2. % 2
3.¢¥3
4. % 4

Question Number : 109 Question Id : 39226619629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following character orchestrates pranks against Malvolio
in the play “Twelfth Night'.
L Sir Toby Belch
2. Viola
! Olivia
4. Sir Andrew Aguecheek

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 110 Question Id : 39226619630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Sir Toby Belch is to Olivia. (Twelfth Night)
1. uncle
2 brother
3 steward
4. Suitor
Options :
1.v 1
2. % 2
3. % 3
4, % 4

Question Number : 111 Question Id : 39226619631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The genre that Oscar Wilde parodies i “The Importance of
Being Earnest™.

1. Fantasy
.2 Horror
3. Romance
4. Science fiction
Options :
1. % 1
2. % 9
3.¢3

4, % 4



Question Number : 112 Question Id : 39226619632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify Cecily’s demeanor when she meets Algernon.
(The Importance of Being Earnest)

1. Shy and reserved

2. Outspoken and bold

3. Serious and solemn

4. Flirtatious and romantic

Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 113 Question Id : 39226619633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify how the banker reacts after reading the prisoner’s
letter (The Bet)

1. He is relieved.

2, He kissed the letter in happy

-

3. He broke the door of the window in anger.
4, He called his watchmen.

Options :

1.¥ 1

2.% 2

3. % 3

4. % 4



Question Number : 114 Question Id : 39226619634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the story ‘Engine Trouble’. the earthquake symbolizes :
1. Destruction and chaos
2. Divine intervention
3. The narrator’s inner turmoil
4. The power of nature
Options :
1. % 1
2.¥2

3.% 3
4, % 4

Question Number : 115 Question Id : 39226619635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the mcorrect statement about the concept of ‘After
Twenty Years'.

1. It refers to the characters reunion after two decades.

2, The title symbolizes the passage of tume and the
diverging paths of the characters.

fad

The story takes place exactly twenty years before the
events of the past

4. The title suggests that time 1s a crucial element mn the
story’s themes

Options :
1. %1
2.9 2
3.% 3
4. % 4



Question Number : 116 Question Id : 39226619636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement about the watch as a symbol in
the story, ‘After Twenty Years’.

1. The watch symbolizes a dangerous weapon.
2. The watch represents the passage of time and their
promise.
3. The watch is used by Jimmy to harm Bob.
4. The watch doesn’t have any relation with the story
Options :
1%
2.¥2
3. % 3
4.% 4

Question Number : 117 Question Id : 39226619637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following motivates the banker to consider murdering the
lawyer: (The Bet)

i, The fear of public humiliation
2. His financial ruin if he has to pay the two million
3. A deep-seated grudge against the lawyer
4. The desire to teach the lawyer a lesson
Options :
1% 1
2.¥2
3. % 3

4.% 4



Question Number : 118 Question Id : 39226619638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following literary device 1s most prominent in the
lawyer’s final letter: (The Bet)

1. [rony

2, Symbolism

3. Foreshadowing
4. Allegory

Options :
1.v 1
2.% 2
3.% 3
4. % 4



Question Number : 119 Question Id : 39226619639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Read the following passage

With its easily transported. thick-skinned and sweet-tasting
fruit. the Gros Michel banana plant dominated the plantations
of Central America, United Fruit. the main grower and
exporter in South America at the time, mass produced its
bananas in the most efficient way possible: it cloned shoots
from the stems of plants mstead of growing plants from seeds.
and cultivated them in densely packed fields.

The main method used by United Fruit to mass — produce Gros
Michel bananas is:

1. Growing plants from seeds
2. Cloning shoots from stems
3 Crossbreeding different varieties
4. Cultivating bananas in isolated fields
Options :
1. %1
2.¥2
3.% 3

4.% 4



Question Number : 120 Question Id : 39226619640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Read the following passage

With its easily transported. thick-skinned and sweet-tasting
fruit, the gros Michel banana plant dominated the plantations
of Central America. United Fruit. the main grower and
exporter in South America at the time. mass produced its
bananas in the most efficient way possible: it cloned shoots
from the stems of plants mstead of growing plants from seeds.
and cultivated them in densely packed fields.

The following contributed to the dominance of Gros Michel
bananas in Central America.

1. Small size and thin skin of the fruit
2. Crossbreeding with other banana varieties
3 Efficient transportation methods

4. Thick skin and sweet taste of the fruit

Options :

1. % 1

2. %2

3.%3

4. 4
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Question Number : 121 Question Id : 39226619641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement about the advantages of
multilingualism in the classroom context.

I Multilingualism does not impact cognitive skills

2, Exposure to different languages hinders understanding

3, Multilingual speakers lack proficiency in their
languages

4. Multilingualism fosters communication between

diverse groups

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 122 Question Id : 39226619642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the incorrect statement about the teaching of English
in multilingual contexts

1. Structured approaches are essential for success
2. Creating a bilingual-friendly environment is
unnecessary
3 Oral drills play significant role in language
development
4, Teacher proficiency in English is of almost importance
Options :
1% 1
2.¥2
3.% 3

4, % 4



Question Number : 123 Question Id : 39226619643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct manner of acquisition for a child who
naturally acquires more than one language at home:

1. Artificial multilingualism
z Bilingualism
3. Natural bilingualism
4, Equilingualism
Options :
1% 1
2. % 2
3.¥3
4.% 4

Question Number : 124 Question Id : 39226619644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the advantage associated with cross-linguistic transfer
in multilingual children :

1. Reduced cognitive skills
2. Weakened phonological awareness
3. Improved problem solving abilities
4. Decreased meta-linguistic understanding
Options :
1% 1
2. % 2
3.¥3
4.% 4



Question Number : 125 Question Id : 39226619645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The level of affective objectives that involves the
establishment of a generalized set of values is :

1. Receiving

2. Responding

L |

Valuing
4. Characterisation
Options :
1.¥1
2.% 2
3.% 3
4.% 4

Question Number : 126 Question Id : 39226619646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The level of cognitive objectives that involves the ability to
understand the mood of the writer is :

I Knowledge
2. Comprehension
3 Application
4. Evaluation
Options :
1% 1
2.¥2
3. % 3

4. % 4



Question Number : 127 Question Id : 39226619647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The level of affective objectives that involves the organisation
of values in a system 1s :

L. Receiving
2 Responding
3. Valuing
4. Organisation
Options :
1% 1
2. % 2
3.% 3
4.9 4

Question Number : 128 Question Id : 39226619648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The level of cognitive objectives that involves the ability to
judge the value of material 1s :

L. Synthesis
2. Evaluation
3. Analysis

4. Comprehension

Options :
1. % 1
2.92
3. % 3
4. % 4



Question Number : 129 Question Id : 39226619649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct sub-skill that mvolves framing sentences
with the right tense form of verbs :

1. Vocabulary
2, Cohesive devices
3. Syntax
4, Grammar
Options :
1. % 1
2. % )
3.43
4. % 4

Question Number : 130 Question Id : 39226619650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the sub-skill that involves reassigning sentences to
create coherent paragraphs :

1. Expression
2. Vocabulary
3. Grammar

4. Organisation

Options :
1. % 1
2.% 2
3.% 3
4. 4



Question Number : 131 Question Id : 39226619651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the skill that 1s not enhanced through speaking :
1. Patience
2. Tolerance
3. Impatience
4. Co-operation
Options :
1% 1
2.% 2
3.¥3
4. % 4

Question Number : 132 Question Id : 39226619652 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the technique that involves giving students a direction
or command to perform actions :

1. Transformation drills
2. Role-play

3. Recognising scripts
4. Following directions

Options :
1. % 1
2.% 2
3.% 3
4. 4



Question Number : 133 Question Id : 39226619653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the term Dr. West used to describe the residual benefit
of English language studies :

L. Bilingualism
2, Surrender Value
3. Fluency

4. Proficiency

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 134 Question Id : 39226619654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the main purpose of using the mother tongue in Dr.
West’s method

E to emphasize translation

2. to minimize English language exposure

L |

to simplify complex grammar rules

4. to aid quick comprehension

Options :
1. % 1
2. % 2
3. % 3
4.9 4



Question Number : 135 Question Id : 39226619655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the term that the direct method associates with
teaching the unit of speech :

1. Paragraph
2. Essay
3. Sentence
4. Vocabulary
Options :
1% 1
2. %2
3.¢3
4. % 4

Question Number : 136 Question Id : 39226619656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the method that starts with reading and writing,
leading to better pronunciation :

1. Natural Method
. Direct Method
Inductive Method

L |

4. Grammar Translation Method

Options :
1. % 1
2.92
3. % 3
4. % 4



Question Number : 137 Question Id : 39226619657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Select the correct advantage of the inductive technique.
. It follows the theory from generalization to example.
2 It makes learners rule-conscious.
3. It 1s not useful in overcrowded classes.
4. It encourages practical use of grammatical rules.
Options :
1. %1
2.% 2

3. %3
4.9 4

Question Number : 138 Question Id : 39226619658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is not a limitation of the deductive technique.
Choose it.

. Learners become inactive during classroom teaching.
2. Learners become rule-conscious and fearful.
3. This method 1s child centred.
4. This method is not very effective.
Options :
1% 1
2. % 2
3.¥3

4.% 4



Question Number : 139 Question Id : 39226619659 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The game, that involves a student guessing an object based
solely on touch, 1s :

I, Hangman

z Blindfold guess
3. Word search

4, Touch

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 140 Question Id : 39226619660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following technique uses objects. models. and images to
teach vocabulary :

1. Blindfold guess
2. Crossword puzzles

Word exercises

Thd

4, Use of pictures and objects

Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 141 Question Id : 39226619661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Speech sounds are called :
L. Phonemes

2, Phonetics

3. All phones

4, Phones

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 142 Question Id : 39226619662 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the primary place of articulation for voiceless alveolar
fricative sound/s/:

| & Velar
7.4 Palatal
3. Alveolar
4, Glottal
Options :
1. % |
2. % 2
3.¢3

4. % 4



Question Number : 143 Question Id : 39226619663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The regional varities of a language are known as :

1. Cliches
2. Idiolects
3. Registers

4, Dialects

Options :
1. % 1
2. % 2
3. % 3
4.9 4

Question Number : 144 Question Id : 39226619664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the incorrect statement regarding the function of the
glottis in speech production.

1. The glottis is responsible for creating vocal fry.

2. The glottis help & shape vowel sounds.

(e

The glottis 1s primarily responsible for producing
consonant sounds.

4. The glottis plays a role in modulating pitch and
ntonation.
Options :
1% 1
2.% 2
3.¥3

4.% 4



Question Number : 145 Question Id : 39226619665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement about methods in a curriculum.

1. Methods are same for all smdents.

12

Methods are adjusted based on student’s progress.

LS ]

Methods are instructional decisions and approaches.

4. Methods are not related to teaching and learning.

Options :
1.v1
2. %2
3.% 3
4. % 4

Question Number : 146 Question Id : 39226619666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the term that refers to the ongoing process of gathering
information about a student’s learning in a curriculum.

1. Goals
2 Methods
3. Assessment

4, Materials

Options :
1. % 1
2. %2
3.¢¥3
4. % 4



Question Number : 147 Question Id : 39226619667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In the approach to sequencing the course is broken into
independent non-linear units.
Choose the option that fits the blank
1. Matrices
2. Spiral
3. Modular
4, Linear

Options :

1. %1

2. %2

3.¥3

4. % 4

Question Number : 148 Question Id : 39226619668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the incorrect role of curriculum for educators :

L. Guiding teachers 1n teaching and learning
2 Providing goals and methods for instruction
3. Replacing the need for textbooks and materials
4. Enhancing students access to academic experiences
Options :
1% 1
2. % 2
3.43

4.% 4



Question Number : 149 Question Id : 39226619669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The interactive phase of teaching involves :
1. Preparing the lesson plan
2. Analyzing resources
3. Executing the lesson plan in the classroom
4. Reflecting on learner performance
Options :
1% 1
2. % 2
3.¥3
4.% 4

Question Number : 150 Question Id : 39226619670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The main focus of a traditional classroom 1s :
1. Active engagement and reflection

2 Teacher — centered nstruction

L |

Group discussions
4, Constructivist approach

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 151 Question Id : 39226619671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The steps in Herbertian steps include all except :
1. Presentation
2. Declaration of the topic
% Association
4, Generalisation
Options :
1% 1
2.% 2

3. %3
4.9 4

Question Number : 152 Question Id : 39226619672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the correct role of assessment 1 a curriculum:
1. Replacing teaching methods in the classroom

2. Documenting student’s knowledge and skills

LN ]

Assigning grades solely based on teacher preference
4, Reducing the need for curriculum planning

Options :

1% 1

2.¥2

3. % 3

4. % 4



Question Number : 153 Question Id : 39226619673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following in NOT a purpose of using language
laboratories

L Increasing teachers workload

2. Reinforcing classroom learning

-

3. Allowing self - guided learning

4. Providing monitoring and evaluation

Options :
1.¥1
2. % 2
3.% 3
4. % 4

Question Number : 154 Question Id : 39226619674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is NOT an attribute of good teaching learning
material

1. Familiarity with TLMS
2. Novelty of the material
3 Limited utility

4. Functional Value

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 155 Question Id : 39226619675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the statement that is incorrect about language labs.

1. They allow students to practice speaking
simultaneously
2 They encourage team work and collaboration.
3. They do not offer exercises for speaking practices.
4. They improve speaking test results.
Options :
1. % 1
2. %2
3.¢3
4.% 4

Question Number : 156 Question Id : 39226619676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the type of teaching aid that focuses on the sense of
light.
1. Audio aids
2. Tactile aids
3. Olfactory aids
4. Visual aids
Options :
1. % 1
2. % )

3. %3
4.9 4



Question Number : 157 Question Id : 39226619677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the statement that mirrors the key advantage of group
evaluation

L Only teacher assessments

2; Elimunates collaboration

-

s Provides subjective assessments
4. Offers comprehensive view

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 158 Question Id : 39226619678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the type of questions that direct classroom practices.
procedures

1. Constructive questions

2. Generative questions

Tl

Review questions
4. Procedural questions

Options :
1. % 1
2. % 2
3. % 3
4.9 4



Question Number : 159 Question Id : 39226619679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the type of validity that involves assessing a test’s
effectiveness in the present movement.

1. Context validity
Z. Predictive validity
3. Concurrent validity

4, Construct validity
Options :
1. %
2.% 2
3.¢¥3
4. % 4

Question Number : 160 Question Id : 39226619680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the characteristic of a good test that relates to the tests
ability to be practically used by teachers and administrators.
L. Validity
2, Reliability
3 Objectivity
4. Practicability

Options :
1. % 1
2.% 2
3.% 3
4.9 4



